# EXACT SOLUTIONS OF AN EQUATION OF GAS DYNAMICS 

A.F. BARANNYK, I.I. YURYK ${ }^{1}$<br>Pedagogical University<br>22-b Arciszewskiego Str., 76200 Slupsk, Poland<br>${ }^{1}$ Ukrainian State University of Food Technologies<br>68, Volodymyrs'ka Str., 252601 Kyiv-17, Ukraine

A new wide class of exact solutions of the gas dynamics equation $\square u+\lambda u u_{0}=0$ is obtained.

The equation
$\square u+\lambda u u_{0}=0$,
where
$\square u=\frac{\partial^{2} u}{\partial x_{0}^{2}}-\frac{\partial^{u}}{\partial x_{1}^{2}}-\ldots-\frac{\partial^{2} u}{\partial x_{n}^{2}}$,
$u_{0}=\frac{\partial u}{\partial x_{0}}$,
$\lambda$ is an arbitrary real number different from zero, was the subject of investigation in papers [1-4]. The equation (1) occurs in the theory of field and gas dynamics. It is shown in [1] that the maximal invariance algebra of equation (1) in Lie's sense is an algebra $F$ generated by the vector fields
$P_{0}=\frac{\partial}{\partial x_{0}}$,
$P_{a}=\frac{\partial}{\partial x_{a}}, \quad J_{a b}=x_{a} \frac{\partial}{\partial x_{b}}-x_{b} \frac{\partial}{\partial x_{a}}$,
$D=x_{0} \frac{\partial}{\partial x_{0}}+x_{1} \frac{\partial}{\partial x_{1}}+\ldots+x_{n} \frac{\partial}{\partial x_{n}}-u \frac{\partial}{\partial u}$,
where $a, b=1,2, \ldots, n$.
Some exact solutions of the two-dimensional equation (1) for the case $\lambda=2$ were found in [2] and of threeand four-dimensional equations in $[1,3]$. In [4], the partial solutions of equation (1) were constructed for the four-dimensional case by the use of symmetry reduction of equation (1) to the ordinary differential equations,

In the present paper, a new wide class of exact solutions to equation (1), which depends on two arbitrary harmonic functions, is constructed. It should be noted that these solutions are invariant under no subalgebra of the algebra $F$ and, for this reason, they are not Lie's solutions. For constructing these solutions, we don't employ the notion of the Lie invariance of equation (1) [3].

1. Let us consider the first case $n=1$. We shall seek a solution of equation (1) in the form $u=a\left(x_{0}\right) b\left(x_{1}\right)$, where functions $a\left(x_{0}\right)$ and $b\left(x_{1}\right)$ differ from constants. Substituting it into equation (1), we get
$a^{\prime \prime} b-a b^{\prime \prime}+\lambda a a^{\prime} b^{2}=0$.
Here and below, $a^{\prime}$ and $a^{\prime \prime}$ mean, respectively, the first and second derivatives of the function $a\left(x_{0}\right)$ with respect to the variables $x_{0}$. It follows from Eq. (2) that functions $b, b^{2}, b^{\prime \prime}$ are linearly dependent. If $b^{\prime \prime}=0$, then $a^{\prime \prime} b+\lambda a a^{\prime} b^{2}=0$. Since functions $b$ and $b^{2}$ are linearly independent, it follows from the latter equation that $a^{\prime \prime}=0, a a^{\prime}=0$. From it we find $a=$ const that contradicts the assumption. Therefore, $b^{\prime \prime} \neq 0$ and, hence, $b^{\prime \prime}$ is a linear combination of functions $b$ and $b^{2}$, i.e., $b^{\prime \prime}=\alpha b+\beta b^{2}$. Substituting it into equation (2), we obtain
$\left(a^{\prime \prime}-\alpha a\right) b+\left(-\beta a+\lambda a a^{\prime}\right) b^{2}=0$,
where
$a^{\prime \prime}-\alpha a=0, \quad-\beta a+\lambda a a^{\prime}=0$.
The obtained system of equations possesses a trivial solution $a=0$ if $\alpha \neq 0$. If $\alpha=0$, then $a^{\prime \prime}=0, \lambda a^{\prime}=\beta$, $b^{\prime \prime}=\beta b^{2}$. Multiplying the function $b$ by a real number $\beta / 6$ and the function $a$ by $6 / \beta$, we may always take $\beta=6$. Therefore, we have the following solutions of (1):
$u=\left(\frac{6}{\lambda} x_{0}+\nu\right) \wp\left(x_{1}\right), \quad \wp^{\prime \prime}=6 \wp^{2}$,
$u=\left(\frac{6}{\lambda} x_{0}+\nu\right) \frac{1}{x_{1}^{2}}$,
where $\wp\left(x_{1}\right)$ is the Weierstrass function with invariants $g_{2}=0, g_{3}=C_{1} ; \nu$ is an arbitrary real number.

Solution (3) is a partial case of the more general solution
$u=\left(\frac{6}{\lambda} x_{0}+\nu\right) \wp\left(x_{1}\right)+f\left(x_{1}\right)$.

Substituting it into equation (1), we get $f^{\prime \prime}=6 \wp f$, i.e., $f\left(x_{1}\right)$ is the Lamé function. Another generalization of solution (3) is of the form
$u=\left(\frac{6}{\lambda} x_{0}+\nu\right) \wp\left(x_{1}\right)+\frac{12}{\lambda^{2}}\left(\frac{6}{\lambda} x_{0}+\nu\right)^{-1}$,
which may be transferred by a group transformation into the solution
$u=\frac{6}{\lambda} x_{0} \wp\left(x_{1}\right)+\frac{2}{\lambda x_{0}}$.
Solutions
$u=\left(\frac{6}{\lambda} x_{0}+\nu\right) \frac{1}{x_{1}^{2}}+C x_{1}^{3}$,
$u=\left(\frac{6}{\lambda} x_{0}+\nu\right) \frac{1}{x_{1}^{2}}+\frac{2}{\lambda x_{0}}$
are generalizations of solution (4).
2. Let us consider the case $n>1$. If $n=2$, then the solutions
$u=\left(\frac{6}{\lambda} x_{0}+\alpha x_{1}+\beta\right) \wp\left(x_{1}\right)+\left(\delta x_{1}+\sigma\right) f\left(x_{2}\right)$
and
$u=\left(\frac{6}{\lambda} x_{0}+\alpha x_{1}+\beta\right) \frac{1}{x_{2}^{2}}+\left(\delta x_{1}+\sigma\right) x_{2}^{3}$,
are generalizations of solutions (5) and (7), where $\wp^{\prime \prime}=$ $6 \wp^{2}, f^{\prime \prime}=6 \wp f$, and $\alpha, \beta, \delta, \sigma$ are arbitrary real numbers.

If $n=3$, then we obtain the following generalizations of solutions (5) and (7):

$$
\begin{align*}
u & =\left(\frac{6}{\lambda} x_{0}+G_{\alpha}\left(x_{1}, x_{2}\right)\right) \wp\left(x_{3}\right)+ \\
& +\Phi_{\alpha}\left(x_{1}, x_{2}\right) f\left(x_{3}\right),  \tag{11}\\
u & \left.=\left(\frac{6}{\lambda} x_{0}+G_{\alpha}\left(x_{1}, x_{2}\right)\right) \frac{1}{x_{3}^{2}}\right)+ \\
& +\Phi_{\alpha}\left(x_{1}, x_{2}\right) x_{3}^{3} \tag{12}
\end{align*}
$$

where $\wp^{\prime \prime}=6 \wp^{2}, f^{\prime \prime}=6 \wp f$,
$\frac{\partial^{2} G_{\alpha}}{\partial x_{1}^{2}}+\frac{\partial^{2} G_{\alpha}}{\partial x_{2}^{2}}=0, \quad \frac{\partial^{2} \Phi_{\alpha}}{\partial x_{1}^{2}}+\frac{\partial^{2} \Phi_{\alpha}}{\partial x_{2}^{2}}=0$,
i.e., $G_{\alpha}\left(x_{1}, x_{2}\right)$ and $\Phi_{\alpha}\left(x_{1}, x_{2}\right)$ are arbitrary harmonic functions. A generalization of solutions (5) and (7) for the case $n>3$ is quite obvious.
3. Solution (7) for the case $n>1$ can be generalized in the following way. Let us consider a subalgebra $\left\langle J_{12}, J_{13}, \ldots, J_{k-1, k}, P_{k+1}, \ldots, P_{n}\right\rangle(k \geq 1)$ of the invariance algebra $F$ for equation (1). The main invariants of the subalgebra $L$ are functions $u, \omega_{0}=x_{0}$, $\omega_{1}=x_{1}^{2}+\ldots+x_{k}^{2}$. The ansatz $u=\varphi\left(\omega_{0}, \omega_{1}\right)$, corresponding to the subalgebra $L$, reduces equation (1) to the equation
$\varphi_{00}-4 \omega_{1} \varphi_{11}-2 \kappa \varphi_{1}+\lambda \varphi \varphi_{0}=0$,
where
$\varphi_{0}=\frac{\partial \varphi}{\partial \omega_{0}}, \quad \varphi_{1}=\frac{\partial \varphi}{\partial \omega_{1}}$
$\varphi_{00}=\frac{\partial^{2} \varphi}{\partial \omega_{0}^{2}}, \quad \varphi_{11}=\frac{\partial^{2} \varphi}{\partial \omega_{1}^{2}}$.
We seek a solution to equation (13) in the form $\varphi=a\left(\omega_{0}\right) b\left(\omega_{1}\right)$, where functions $a\left(\omega_{0}\right)$ and $b\left(\omega_{1}\right)$ differ from constants. Substituting into equation (13), we come to
$a^{\prime \prime} b-4 \omega_{1} a b^{\prime \prime}-2 \kappa a b^{\prime}+\lambda a a^{\prime} b^{2}=0$.
Equation (14) means that the functions $a^{\prime \prime}, a, a a^{\prime}$ are linearly dependent. Let us suppose the functions $a, a a^{\prime}$ are linearly independent. Then the function $a^{\prime \prime}$ is a linear combination of $a$ and $a a^{\prime}$ :
$a^{\prime \prime}=\alpha a+\beta a a^{\prime}, \quad \alpha, \beta \in \mathbb{R}$.
Substituting $a^{\prime \prime}$ into (14) end equating to zero coefficients at $a a^{\prime}$, we get $\beta b+\lambda b^{2}=0$, i.e., $b=$ const, that is impossible. The obtained contradiction proves that the functions $a$ and $a a^{\prime}$ are linearly dependent, therefore, $a^{\prime}=\mu=$ const. In view of this condition, equation (14) takes the form
$4 \omega_{1} b^{\prime \prime}-2 \kappa b^{\prime}-\lambda \mu b^{2}=0$.
If we find a solution to (15), then the formula $u=$ $a\left(\omega_{0}\right) b\left(\omega_{1}\right)$ will give us a solution to Equation (1). We shall seek a partial solution to Equation (15) in the form $b=t \omega_{1}^{\alpha}$ [5]. Substituting it into Equation (15), we come to
$4 \alpha(\alpha-1) t \omega_{1}^{\alpha-1}+2 \kappa \alpha t \omega_{1}^{\alpha-1}-\lambda \mu t^{2} \omega_{1}^{2 \alpha}=0$.
It follows from Equation (16) that $\alpha=-1$. Therefore, $8 t-2 \kappa t-\lambda \mu t^{2}=0$.
Solving this equation, we get $t=\frac{8-2 \kappa}{\lambda \mu}$. Hence, we have constructed the solution
$u=\frac{8-2 \kappa}{\lambda} \frac{x_{0}}{x_{1}^{2}+\cdots+x_{\kappa}^{2}}$
of equation (1).
The solution (17) is a partial case of the more general solution
$u=\frac{8-2 \kappa}{\lambda} \frac{x_{0}}{x_{1}^{2}+\cdots+x_{\kappa}^{2}}+f\left(\omega_{1}\right)$.
Substituting it into Equation (13), we obtain
$\omega_{1}^{2} f^{\prime \prime}+\frac{\kappa}{2} \omega_{1} f^{\prime}-\left(2-\frac{\kappa}{2}\right) f=0$.
The Equation (18) is the Euler equation. Its general solution is of the form [5]
$f=C_{1} \omega_{1}^{-1}+C_{2} \omega_{1}^{2-\kappa / 2}$.
Hence, equation (1) possesses the solution

$$
\begin{align*}
u & =\frac{8-2 \kappa}{\cdot \lambda} \frac{x_{0}+C_{1}}{x_{1}^{2}+\cdots+x_{\kappa}^{2}}+ \\
& +C_{2}\left(x_{1}^{2}+\cdots+x_{\kappa}^{2}\right)^{2-\kappa / 2} . \tag{19}
\end{align*}
$$

It is easy to see that solution (19) is a partial case of the more general solution

$$
\begin{align*}
u & =  \tag{20}\\
& =\frac{8-2 \kappa}{\lambda} \frac{x_{0}+C_{\alpha}\left(x_{\kappa+1}, \ldots, x_{n}\right)}{x_{1}^{2}+\cdots+x_{\kappa}^{2}}+ \\
& +\Phi_{\alpha}\left(x_{\kappa+1}, \ldots, x_{n}\right)\left(x_{1}^{2}+\cdots+x_{\kappa}^{2}\right)^{2-\kappa / 2}
\end{align*}
$$

where
$\frac{\partial^{2} G_{\alpha}}{\partial x_{\kappa+1}^{2}}+\cdots+\frac{\partial^{2} G_{\alpha}}{\partial x_{n}^{2}}=0$,
$\frac{\partial^{2} \Phi_{\alpha}}{\partial x_{\kappa+1}^{2}}+\cdots+\frac{\partial^{2} \Phi_{\alpha}}{\partial x_{n}^{2}}=0$.
If we put $\kappa=1$ in (20), then we obtain solution (7).

1. Fushchych W.I., Serova M.M. on exact solutions of nonlinear differential equations invariant under Euclidean and Galilei groups // Theoretical and Algebraic Methods in Problems of Mathematical Physics. - Kiev: Int. of Mathematics, 1983. - P.24-54 (in Russian).
2. Rosen G. Solutions of certain nonlinear wave equations // J. Math. Phys. - 1996. - 45, N 3-4. - P. 48-56.
3. Fushchych W.I., Shtelen W.M., Serov N.I. Symmetry analysis and exact solutions of equations of nonlinear mathematical physics. - Dordrecht: Kluwer Academic Publishers, 1993. - 400 p .
4. Barannyk L., Lahno $H$. The symmetry reduction of nonlinear equations of the type $\square u+F\left(u, u_{1}\right) u_{0}=0$ to ordinary differential equations // J. Nonlin. Math. Phys. - 1997. 4. N1-2. - P.78-88.
5. Kamke E. Reference book on ordinary differential equations. - M.: Nauka, 1976. - 576 p. (in Russian).

## ТОЧНІ РОЗВ'ЯЗКИ РІВНЯННЯ ГАЗОВОІ̆ ДИНАМІКИ

А.Ф. Баранник, І.І. Юрик

Резюме
Отримано новий широкий клас точних розв'язків рівнянь газовой динаміки $\square u+\lambda u u_{0}=0$.

ТОЧНЫЕ РЕШЕНИЯ УРАВНЕНИЯ ГАЗОВОЙ ДИНАМИКИ

## А.Ф. Баранник, И.И. Юрик <br> Резюме

Получен новый широкий класс точных решений уравнений газовой динамики $\square u+\lambda u u_{0}=0$.

